
 1 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Assembly Instructions: 
  

 
 

 

 
  
  
  
  
  
  
  
 

1. Place the ash bucket on its side and open the cover. Using (4) of the 1/2” button head bolts attach the 
feet to the body of the bucket with the 1/4-20 nut on the outside. 
  
  
  
  
  
  
  
  

Parts Needed:  
 (2) Carrying Handles 

(2) Legs 
(1) Back Handle 
(2) 5/16 Flat Washers 
(8) 1/4-20  Nuts 
(2) 5/16 Nylon Insert Lock Nuts 
(6) 1/4-20 x 1/2” Button Head Bolts 
(2) 1/4-20 x 3/4” Button Head Bolts 
Packaging 14”x14”x16” Box 

66 Airpark Rd., West Lebanon, NH 03784 
Phone: 1-800-866-4344 

Email: info@woodstove.com 
Web: www.woodstove.com 

Woodstock  
Soapstone  
Company, Inc. 

Part#ASH: Ash Bucket 
Rev. Date 8/6/2021 

Tools Needed: 
1/2" Wrench or nut driver 
1/2" Socket or nut driver 
7/16” Open-ended wrench 
5/32” Allen key 

Back Handle 

Legs 

Carrying 
Handles 



 2 

2. Keep the ash bucket on its side to attach the rear handle with the remaining (2) 1/2” button head bolts. 
The bolt head will be on the outside of the bucket and the 1/4-20 nuts on the inside. 
  
  
  
  
  
  
  
  
  
  
  
  
  
  

3. Mate the left and right handles using the (2) 3/4” button head bolts. Place the handle components on the 
work surface with the curved slot facing up. The right side of the handle should be on top of the left. 
 

4. Place the bucket on its feet.  Apply the 5/16” washers to the left and right threaded studs. Coming from 
the back of the bucket, with the lid closed, spread the handle over the studs. 
  
  
  
  
  
  
  
  
  
  
  
  
  
 

5. Apply the nylon insert lock nuts and tighten. Do not over-tighten. The handle should move freely back 
and forth, and up and down. 
 

  
 


